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ENGLISH -40
(Grammar-20)

1) Tick the correct option to complete the following sentences : 1x8=8
1) The suitable article in the blank will be —
‘He married to one eyed woman.’
a) an b) a c) the d) All of these
i) What will be self pronoun in the blank ?
‘The students cleaned all the rooms J
a) themself b) themselves c) theirself d) None

iii) The feminine gender of god —

a) goddess b) goddesses ¢) God d) fawn
iv) The word ‘education.’ is
a) Adverb b) Noun c) Verb d) Preposition
V) The past participle of the verb “pull’ is —
a) pullen b) pulled C) pult d) None

vi) The interjection in the blank will be-

¢ > ! India has beaten South Africa .’
a) Hurrah'! b) Alas ! c) Fie! d) Ah!
vii) ‘Rina had been singing for half an hour ’ is an example of -------- tense ?
a) Present Indefinite b) Present Continuous
c) Present Perfect d) Past Perfect Continuous tense

viii) Which of the Modal Auxiliary should come in the blank ?

‘He go there yesterday.’

a) can b) could c) would d) might
2. Fill in the banks with correct answers. 1x4=4
1) Nitai exercises (Fill in with an adverb).
i) Somali died cancer.(Fill in with preposition).
iii) The boy is (good) in the class (put correct Superlative Degree).
Iv) ‘Rajat is too much (health)’(fill in with adjective form).
3. Do as directed: 2x4=8
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1) Expand the following contracted sentence — ¢ I >mn’t your friend ’

Ans:-

i) Change the sentence into negative interrogative sentence .
‘The Indians live in India .’

Ans:-

iii) Give an example of a wishing sentence.

Ans:-

iv) He drinks a cup of hot coffee. (Turn into Present Perfect Tense)

Ans:-

(Vocabulary-10)

4. Tick the correct option to complete the following sentences:
i) The antonym of the word ‘known’is-
a) unknown b) wise c) foolish
ii) Find the odd-pair out :-
a) Cow : Calf b) Tiger : Cub c) Sheep : Shoal

iii) Choose the correct spelling —

a) Dictionary b) Dictionery c) Dictionari
iv) One who gives house on rent called :-

a)Houseman b) Florist c) Tenant
5. Fill in the blanks with correct answers:

1) ‘A group of soldiers’ is called

1x4=4

d) familiar

d) Dog : Puppy

d) Dictionary

d) Landlord

1x2=2

i) ‘NIUVRESTIY’ =

6.Do as Directed:
i) Punctuate the sentence - ‘who does not know the name of Swamiji’

Ans:-

(Reform).

2x2=4

iv) Add suitable Prefix & Suffix to the following word to form a new word.

Ans: + faith +

(Spoken Expression-10)
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7. Tick the correct answers to complete the following sentences: 1x4=4
i) Choose the correct expression to greet someone who comes to your house .

a) Welcome madam / Sir! b) Welcome to my house madam/Sir !
c) feeling happy ! d) I’'m happy having you !

ii) One greeted you saying ‘Bye ! Bye!” What you would say?

a) Bye ! Bye ! b) See you again c) Take care of you d) Bye ! see you again
iii) How would you beg sorry to your mother ?

a) 'm sorry!. Can | help you? b) Sorry! Mother.

c) No problem d) Sorry !

iv) ‘Thank you ! = ’?

a) Welcome! b) thanks a lot!.
¢) No mention d)it’s OK!
8. Fill in the blanks with correct answers: 1x2=2

i) ‘Good Night’ used for ?

i ) ‘Wish you Happy journey !’ told at ?

9. Do as Directed. 2x2=4
1) Suppose, you need drink water. How would you make the request?

Ans:-

il) You met with your friend after a long time .What would you say?

Ans:-

GENERAL SCIENCE - 20

A) Tick the correct answer :-- 1x6=6
i)All energy source is —

a) Water [ ] b)Sun[ ] c)Earth[ ] d)Star [ ]

ii) The elemant that pulls the lungs air is -
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a) Carbondioxide [ ]  b)Water vapour [ ] c) Oxygen [ ] d) Nitrogen [ ]
iii)A medicinal plant ---

a)Chinarose [ ] b)Amalaki [ ] d) Papaya [ ] d) Rose [ ]
iv)One hybrid metal ---

a)Copper [ ] b)Brass [ ] c)Wood [ ] d)iron[ ]
v)The first animal used in the field to plough the land —

a)Horse [ ] b)Bull [ ] c)Sheep [ ] d)Elephant [ ]
vi)Fiber types crop is ---

a)Jute [ ] b)Paddy [ ] c)Potato [ ] d)Wheat [ ]

B) Answer in one or two words : 1x6=6
1) What does the fish do with breathing ?
Ans :-

i) Write the name of a burning material .
Ans:-

iii) Children’s day is celebrated on which day ?
Ans:-

iv) Name any air gas which helps to burn .
Ans:-

v) What is mummy ?

Ans:-

vi) Give example of a solid substance ?

Ans:-
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C) Answer briefly in one or two sentences: 2x4=8
I)What is rotation of planets ?

Ans:-

ii)Write the condition for seed germination .

Ans:-

iii)What is the flowering plant ? Give an example.

AnNs:-

iv)Write two difference between shrub and tree .

AnNS:-

MATHEMATICS — 40

A) Choose the correct answer :- 1x 14=14

. 29 . . .
i) Convert Tog MO decimal fraction .

a) 0.29 b) 3.45 c) 0.029 d) None of these
i) One Day = Minute .
a) 144 b) 1440 C) 2440 d) 1140

iii) Convert into fraction :  Ten and fifteen parts out of hundred parts .

1 15 10 100
a) 155 b) 10 Too c) 15 Too d)10 =
iv) Write inwords : 1000000 .
a) One thousand b) Ten thousand c) One Lakh d) Ten Lakh
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v) 2 and 5 are factors of —

a) 10 b) 5 c) 6 d) 15
vi) Convert seventieth into cardinal number -

a) 07 b) 17 c) 27 d) 37
vii) Smallest composite number is --

a) 2 b) 4 c) 6 d)8

viii) HCF of 53, 75 and 125 is ---

a) 53 b) 1 c) 125 d) None of these
ixX) Alinesegment ismadeof _____ number of points.

a)l b) 2 c)3 d) infinite
X) 5 paisa =Rs.

a) 500 b) 50 c)5 d) 0.05

xi) To write ¢ Ten Lakhs’ how many zeros are needed ?

a) 6 b) 5 c)7 d) 4

xii) Number of surface of a football is
a)l b) 2 c)3 d) 4

xiii) Average of first five natural number is

a) 3 b) 4 0)5 d) 6

xiv) Reciprocal of 1; IS

2) 2 b) 2 c) d) 2

B) Answer the following questions:- 2x7=14

1)0.1x0.01 x0.01=?

2) Find the Averageof 5,0,6 and 9.
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3) What is the number of edges of a brick ?

4) 50 paisa = Rs.

5) Write down the name of three sides of the triangle .

X
Y Z
6 21
— = = 2
6) 25 7 40 '
1 9
7)———: 2
4 8

C) Answer the following questions:-

3 5 7
1) —=+—+— = ?
8 16 24

3x4=12
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2) Find the LCM of 13, 26 and 39 .

3) 3.28 Meter =

kilometer .

9
4) Find the percentage of =

For Rough Use
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